Sistemas de 4x4

infinitas soluciones

5x+3y +z+ 2w=1
2y +3z +w=12
-3x+2y—-2z+3w=3
2x +5y -z +5w=4

Solucion Unica

36 +16B—-6D+4E+F =0
64 +B-8D +E+F=0
4+168B+ 2D —-4E+F =0
64+98B+8D-3E+F =0

B=4, D=—-4, E=-8 F=-92,

Sin solucién

X+y+z-w=2
2x—-y+w=35
3x+z+w=1
2x+2y+2z-w=3



Sistemas de 5x5

infinitas soluciones

X+y+z+w+t=2
2x+2y+2z+2wW+2t=4
6x-3y+8z+7w-t=3
2x+5y+4z+3w-12t=-13
4x+9y-3z+5w-t=8

sin solucion

X+y+z+w+t=2
2x+3y+5z+2w+6t=40
3x+4y+6z+3w+7t=2
2x+5y+4z+3w-12t=-13
4x+9y-3z+5w-t=8



Sistemas de 6x6
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Sistemas de 7x7
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Sistemas de 8x8
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